
ERRATA

On the ergodic theorem
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SHIGERU TSURUMI

p. 54, line 16. For "(II)" read "(10".
p. 55, lines 13 and 14. For "Δ(A, {A{}k=1^.... j = 1,2, . . . . JV)" read "Δ(A,

p. 55, line 25. For " 2 " r e a d " 2 "

p. 56. lines 21 and 22 are italicized.
p. 56, line 32. For "(I)" read "(10 which is weaker than (I)".
p. 56, line 35. For "lim" read " = lim".
p. 57, line 24. For "(I)" read "(10".

p. 58, line 16. For "?' read "/".
p. 59, line 3. For " ^ i n r a " read

p. 59, line 26. For " 2 " r e a d " 2 "•

p. 61, line 21. For "(II')" read "(II)".
p. 63. line 1 and line 2 are mutually interchanged.
p. 63, line 22. For "33y/' read "33r/\
p. 64, line 4. For "equivalent" read "disjoint".


